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single-issue dimension ranging from low public goods provision (0) to high public goods 
provision (10). The current level of public goods provision is referred to as the status quo 
(SQ). Both the president and the legislature have preferences over what the level of public 
goods provision should be. We will assume that the legislature gets to make proposals on 
what the level of public goods provision should be and that the president can either accept 
or veto these proposals. If the president vetoes the legislature’s proposal, then the status 
quo policy is maintained. If the president approves the legislature’s proposal, then the 
proposal is implemented and becomes the new status quo.

	 In Figure 11.16, we illustrate one possible scenario in which a president and a legislature 
could find themselves. The status quo level of public goods provision is 2. The president’s 
most preferred level of public goods provision is 7, and the legislature’s most preferred level 
is 4. Recall that in spatial models, actors are assumed to prefer policy outcomes that are 
closer to their ideal points than ones that are farther away. In other words, if an actor has 
to vote over two alternatives, she will choose the one that is closer to her ideal point. If an 
actor has to choose between two policy outcomes that are equidistant from her ideal point, 
she is indifferent between them and could choose either as a best response. For instance, 
the president would be indifferent between having public goods provision at 6 or 8 because 
both of these outcomes are one unit away from her ideal point, 7. To keep the following 
examples simple, you can assume that if an actor is indifferent between the status quo 
point and an alternative point, the actor will choose the alternative point.

Choosing a Level of Public Goods Provision:  
Scenario 1Figure  11.16

Note: SQ = the current level of public goods provision; L = the ideal point of the legislature; P = the ideal point of 
the president.
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Part I: Scenario 1

Suppose that the SQ and the ideal points of the legislature and president are aligned as in 
Scenario 1 in Figure 11.16.

a.	Given that the status quo is at 2, what is the range of policy outcomes that the president 
prefers to the status quo? Recall that the president prefers any policy that is closer to her 
ideal point than the status quo.

b.	Given that the status quo is at 2, what is the range of policy outcomes that the legisla-
ture prefers to the status quo? Recall that the legislature prefers any policy that is closer 
to its ideal point than the status quo.

c.	Do the ranges of policy outcomes that the president and legislature prefer to the status quo 
overlap? If they do overlap, how would you interpret the set of points where they overlap?


